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%k 4 OB | B K F otk A4 MO | B K
- 19X 10N 1, 900 FEN 24X 1 2, 400
____________ + 1 1, 900 — 1 2,400
RHEE— 38X 1 3, 800 FEAN 18X 10/ 1, 800
____________ 1 1 3, 800 el 1 1, 800
PE AR 16X 10 1, 600 IR 35X 1 3, 500
____________ |- 1 1, 600 el 1 3,500
6 NG 34X 1 3,400 | VR 15X 10N 1,500
____________ = 1 3, 400 —— 1 1, 500
EE M= 21X 10N 2, 100 H= 38X 1 3,800
____________ = 1 2,100 36X 9 32,400
o 29X 1 2,900 | it 10 36, 200
____________ = 1 2,900 Hy 36X 2 7,200
S 38X 1 3, 800 34X 1 3, 400
36X 34 122,400 | ——————— 2t 3 10, 600

____________ =} 35 126, 200 B 22X 1 2,200
= 36X 54 194,400 | - it 1 2, 200
9X 10 900 B— 36X 16 57, 600

____________ 1 55 195, 300 22X 10UM) 2,200
A 36X 1 3,600 | il 17 59, 800
19X 10N 1, 900 B 37X 1 3, 700

____________ = 2 5, 500 36X 12 43, 200
g 36X 6 21,600 | - at 13 46, 900
31X 1 3, 100 B = 36X 9 32, 400

____________ = 7 24, 700 26X 1 2,500
RN 36X 9 32,400 | ———————— it 10 34, 900
17X 10N 1, 700 By 36X 5 18, 000

____________ = 10 34, 100 8X 1) 800
VR 32X 1 3,200 | e it 6 18, 800
____________ | 1 3, 200 B f 36X 4 14, 400
= 36X 5 18, 000 17X 10N 1, 700
____________ + 5 18, 000 —— 5 16, 100
| i Rk 190 | Mo 657,400 | CK)= 179 | UM)= 1
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BO— 36X 16 57, 600 T 36X 1 3, 600
———————————— 1 16 57, 600 9x 10 900
BO_— 36X 10 36,000 | ——————— 2t 2 4,500
———————————— + 10 36, 000 C— 9x 10N 900
X = 36X 22 79,200 | ———————— 2t 1 900
———————————— + 22 79, 200 Cc_ 36X 12 43, 200
itk — 36X 3 10, 800 22X 1) 2, 200
26 X 2,600 | ———————— 2t 13 45, 400

———————————— =1 13, 400 C= 36X 36 129, 600
= 36X 4 14, 400 16X 10N 1, 600
15X 10 1,500 | ————————— 2t 37 131, 200

———————————— 3t 5 15, 900 Cy 40X 1 4, 000
fisz Y 36X 2 7, 200 36X 3 10, 800
30X 1 3,000 | ————————- 2t 4 14, 800

———————————— =1 3 10, 200 CHE= 36X 5 18, 000
En 40X 1 4, 000 28X 1 2, 800
———————————— 1 1 4, 000 — F 6 20, 800
itk — 36X 3 10, 800 CO— 36X 2 7, 200
21X 1)) 2, 100 TX 10N 700

———————————— + 4 12, 900 — 3 7,900
fite 4 36X 1 3, 600 cO— 36X 8 28, 800
18X 10N 1, 800 33X 1 3, 300

———————————— 1 2 5, 400 — 9 32,100
F— 36X 10 36, 000 cO= 36X 20 72, 000
X 10N 700 21X 10N 2, 100

———————————— 3t 11 36, 700 — 21 74, 100
F 36X 14 50, 400 M 21X 1UN) 2, 100
10X 100N 1,000 | ———————— 2t 1 2, 100

———————————— + 15 51, 400 FET 36X 5 18, 000
= 36X 10 36,000 | —————————— 2t 5 18, 000
13X 10U 1, 300 kBN 20X 1 2, 900

———————————— 1 11 37, 300 ——————— 3 1 2, 900
I F Fa¥ 207 | Btk 714,700 | CR)= 194 | (/)= 13
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&Y 15x 10U 1, 500
____________ =1 1 1, 500
LT 4% 10PN 400
____________ =1 1 400
RN 27X 1 2, 700
____________ =18 1 2, 700
E 36X 11 39, 600
11X 10 1,100
____________ =1 12 40, 700
N R 15| Hokk 45,300 | (K)= 12 | ()= 3
& 3 B¥oo o a12| Bolo 1,417,400 = 385 | ()= 27




